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Paper II 

Qu rr~ ~i:616l.I 
(Degree Standard) 

(ljl.$8iJ IU ~ (61 Qj QJ IT a;Qr 

1. .@~ 61Sl601rr~ Ql'rr(§LIY €>® Gtn@l""!D""ILI (.@/51' u8;a;~""I0)8; Qa;rr""@GiTG1T191, ~ir61J Ql'rrLffil(§tb G)lilT~~ro 
6lSl 601rr ~QI' IT (§LI"" u~ ~ !D.;;®tbu "I- ,..;,r a; rr...ft LI u rrGJTir '"'-(!)I ti> ru"' 1Ti6i ro Gtn@I ""!D""ILI~ ~ !D.;;,..;; ""-Lrr 191, 
ml601rr~Qi'rr@iLI6IDu~ ~!D.;;@itDLI"l-ILirr601 G1Hu6"a; ,....,a;rr...ft u u rrGJTill LuSl(ll))i;§I QuJi>!DG><Lm Gtn@l"'!!Ju'16'T ru6\J191 Y!D~""I' 
a;ru601wrra; 8i!Wl~191~ ~!D.;;a; Gru...,@tb, ~l'mtSlm G..GiTGlSla;I§.;;® 61Sl6IDL11Jffil8;a;~ Ql'rrLffi!a;6llrrtb, 

2. .@)i;!' 6lS1601rr ~ Gi IT (§LI y 10 0 6lSl 6'rrr .;;,;;""GIT.;; Qa; rr""Q) GiTGJT@J , 61116'> LILI 6!11.;;,. QI' rrLffil (§(ljl6'T .@Gi.J 6lSl 61!Trr ~QI'"® LI t5I ro 
"1'QJ6\Jrr 6lS161!Trr.$a;(§tb .@Ltb GwJi>(!)IGiTGJT6016lJrr "1'6'Tu""IOILJLD .@6"Li6iro 'if191LD GruJi>(!)J::i;l'rrffia;Gir 1LGiTG1T6'T<OJJrr "1'mu""IOILJLD 
iFiilurrir~.;; Qa;rrGiTGJTQjtb, ~@Jtb ®""!Durr(!) .@(ll)LitSim ~1'""6'ir u~191 ffeuSILffillb(§.$(§Gir ~"'!D a;""a;rr...ftLiurrmillLtb 
Ql'ill61Sl.$a;61jtD, , 

3. "1'QJ6\JIT 61Sl601rr.$a;{§.;;@itD 61Sl6IDL11Jml.$a;61jtb, "1'QJQ)IT 61Sl61!Trr.$a;(§tb IFl,DLDIT601 LD~LIQu...,a;Gir Qa;rr...,L6"6lJ, 
4, 1Lffi!B;(§6IDLILI U~Qj '""""'""' .@)i;IOLI u.$a;~~6in 6lJ6\J@J Gtnro ('.Yl6"6lli6iro ~l'Ji>Qs;601 ~6IDtn)i;191mG1T .@L~~ro )bffil.g;ffi 

'"@!' Gru...,@tb. Gru(!)J '"""l'ILJLD 6lS16'Trr~ Ql'rr(§LitSiro '"@!'.;; ""-LIT:!91, , 
5. ml6IDLlb6"61T.;; ®!61~@J.;; BiITLL "1'601, 61Sl6IDL~IO"GIT €>6'T(!)J 1Lffila;(§.;;@i ,....,,.rr...ftLIUITGITITIT<il 106liil11Jria;~ IOITLIU(jjltD, , 
6. 1Lffillb(§6"L11J U~61J '"'°"· Gi'irG><~l'rrffi '"'°" LDJD(!)JLD 61Sl601rr~Ql'rr(§LI~ ruill""" '"'°" (SL No.) (l!ll0"511Li.UJD6ID!!JILJLD 

61116IDL~l'rrffil6in .@V""Lrrtb u.$a;~~ro ~6"6lJB;(§.$a;rra; ~61!ltn)i;191GiTG1T .@Lffillbm1ro Jb6ULD ~ro6\J191 B;(llj6IDLD ffe!D 
6IDLDILJ6"LILI u)i;>'l)J(l!l6"601LI Gu61!1rr6lS161!Trrro ®!6l~i91.;; a;rrL.L Gru...,Qjltb, GmJi>s;""L 61Slu1Tffillh6IDG1T 61Sl6IDL~l'rrffilro )bffils;Gir 
®!61~191.;; a;rrL.~ i>rur616'Trrro ,,_ffila;Gir 61Sl6IDL~l'rrffi Q,,ro6\Jrrl'l'rr.;;,.Liu@tb, 

7. ~6lJIT(llj 61Sl60Tli61jtb (A), (B), (C) LDJD(!)JLD (0) "1'6'! )liITGin(§ 61116IDL8;6IDGIT.$ Q.g;rr""@GiTG1T191, )bffila;ffi ~~ro €>CiT €>('1; 1Fiil11Jrr601 
61Sl6IDL6IDILI~ G::oirG>< Qlflil:!9J 61116IDLJtil;rrffilro ®!61~ ... rrL.L Gru""@tb, ~(!)I~ GwJi>uL.L1Fiil11Jrr601 GJSl""~ €>® G..GiTGJSl~ 
.@(ll)LIU10ITM ~-'", )bffila;ffi uSIM 1Fiil11Jrr6.ri91 "1'6'i(!)J '"~ ~8ilf5ir.$G.tm ~Ji>!' 6lS16IDL6"11J ml6IDL#rrffilro ®!61~.$ 
.g;ITL.L GQJ""@tb, "1'Llu"1-11Jrri6i@tb €>('1; Ga;ffiGJSl~ €>GIT €>(1l) 6lS16"L6IDILI~rrm G::oir)i;QIO@M Gru""@tb, 1Lffillh(§6IDLILI 
Gwrr~ ~LIQuim...m )bffila;Gir 61116IDL#rrffilro ®!61~.;; a;rrL.Qjltb 1Fi\l11Jrr6'1 61Sl6"La;6!1im '"'°"...ft.t"""""ILILI Qurr(!)J~, 

8. GJSl""~rrffilro ~Qrurr(llj G..Gir6111 '"""...ftJi>(§tb '"~illro @ , @,@ LDJD(!)l\,P@ "1'601 )liITGin(§ rol6IDL ruL.Lffil.g;ffi "-GIT<TT6'1: 
€>® G..GiTGlSl~ 61Sl6"LILiffilM )bffila;Gir, ,,i\lQ11J601 ,.~Li> 61Sl6"L6IDILI €>GIT €>® 61Sl6IDL 6lJL~ro tnL.Q)tb u~ (ljl6ID6'TU 
Gu6'TIT6lS16'TITro ®!61~.;; lhrrL.L Gru""@tb, €>6i.JQrurr(llj G..Gir6111.$®til €>® 6lS16IDL6IDliJ~ G::oir)i;QIO@~ GJSl..,~rrffilro ®!61.;;a; 
eru.,;;,@tb, €>® Ga;GITGlS).;;@i €>6in(!)J.$@i GtnJi>uL.L 61Sl6IDLILI<ril~rrro ~Ji;IP 6lS16"L 1'6U!!JIT60110ITB; '"(ll)i'LIU@tD, "-!'ITlf""'LDrrlb 
)bffillbffi @ "1'00J"'i0 iFiillLIIT601 61116"L1LIITM .g;~6'TITQJ ~"'!' t516in6lJ(lljLD"l!)i (§(61~.$ l>ITLL G61J""@tD, 
, , @•@@ 

9. )bffil.g;ffi 6lS1601rr~ Ql'rr(§LitSim '"/5i>LI u.$'"~""IOILJLD )b.$.g;Grurr ~ro6\J@J &lW!.;;,.Gruir ""-L">'lJl· ~ir61J G)liv~i6Jro .@/51> 
6111=~ G1>rr(§Lit5i6ID61!TG11Jrr ~ro6\J@J 61Sl6"L~IOrr6'l61TG11Jrr ~ir61J.$ ""-L~6'li' GlSlL.@ Qruffili61ro '"®~i91,; Q,,roru.$""-LIT:!9J, 

, Gft;irru ap~V;it516in jl\ffila;Gir "-ffil'"!ffii""LILI 61116"L:i;$!irr6"GJT.$ ,....,,.rr...ftLiurrGJTiilLtb Qa;rrffi:i;~I GlSlL Gru...,(j)tb, 
fii)Gi.J61Sl601rr:i; Q$!irr@ut51""601:ii G$!jirGW ap~ii;$!iGWLm ffiffila;Gir "-ffil'"lffiiL6'T '"Vl~~16 Q,,ro6\J6\Jrrtil, 

10. ®WlLIY'"ffi '"@i6JLI urrirLiui>Ji>® 61Sl61!Trr~ Ql'rr(§Lit516in '"""Jl u.$.g;~iblJi>® (ljl6'Tu.;;,.~""I' 1LUG11Jrr&l~:!9J.;; Q.g;rrffiGJT6llrrtb, 
11. Gwri>'"""L 6lS1:$J.g;ffilro '"""1'11JrrGW191 L6r61601rr6\J G10irGWrr6'l""'11Jtb (l!l"l-QruQ).$(§tb )liLGW"I-.;;""'"'"®.;;® <LffiGJTrr.g; G)liillQ)tb 

"1'601 ~r616\l(!)l~IOLIU@&l!!J§J, , 
12. ~ffi!.$16\J 6lJ"l-6111ro Q.g;rrQ).$1>LiuL.@GiTG1T ®WlLiya;ffi1>rr6'T (l!l"l-rurr60Tl'rr®tb, 
13. ml601rr~ QIOIT(§LitSiro 61Sl6IDL6"11J ®!61i6iLGrurr, (§(61LitSIL.@$ lbITLLGrurr 8".LIT:!91, 
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SPACE FOR ROUGHWORK 

/ 
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1. Bauxite an ore of AluminiUm. ·It is not available in India in----- state. 

(A) Orissa 

(C) · Bihar 

(B) (Salem) Tamil Nadu 

~Karnataka 

. . ' - . . 
LJ IT li;aiQUL ibIT 191G\Sl 6iJ .&! @)I u\l61!\l 1U tb 11l...G6\J IT ii;tb !LGITG!T i9J · @ai6ll @Ji;~ 1LI ITG\SlGiJ ffilGIDLli;B;ITi!> LDIT)fil6U tb 

(A) · jj)IT11HT 

(C) Ciii;ITir 

2. Fixation of Nitrogen is a source for 

(A) Various Oxygen Compounds 

(B) Various Phosphorous Compounds 

~ Various Nitrogen Compounds 

(D) Various Sulphur Compounds 

6ID)liLf,f1Jl6ITT )fil6ID6UUU@~i!i6\J (Yl6Utb ffilGIDLUUi9J 

(A) .&iG)li"" ~.:i;G11Sl1£6ITT GlfirLDffilii;Gir 

(C) . .&iG)li"" GID)JiL\f1Jl6ITT Glfirtnffilii;Gir 

(D) . ~G)lilO lfruuir GlfirLD!liJIOGir 

3. . The pH of a solution in which 10.0 mL cif 0.1 M NaOH is added to 25.0 mL of0.1 M HCl is 

x 

(A) 3.143 (B) 1.863 ,·. 

(C) 2.614 Jiil( 1.368 

10.0 mL 0.1 M NaOH iLL6ITT 25.0 mL 0.1MHCl106U)i;lb ii;GIDr,rlf61516ITT pH LD~ULJ o;r6ITTm?. 

(A) 3.143 

(C) 2.614 

3· 

(B) 1.863 

(D) 1.368 

RAGS/16 
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4. . Which ba~teria produces insect resistan~e in t~ansgenic plants? 

5. 

6. 

(A) Bacillus ramosus 

jJilf .. Bacillus thuringiensis 

(A) Gu616\J6llffi> i;rrrGlllrrGnSiffi> 

( C) au 616\JGlJffi> 191 rfl 1§61 UJ 6irr 61 ffi> 

Glycolysis takes place in the 

(A) . - Golgi 

(C) ·Vacuole 

.$1.-oim liiGllirt 615161 ffi> '"nil ® !5 6')L Q u !l)l .$1ID191 7 

(A) llirrGiilJ!I 

( C) G>ll UJ rr .$1GUJ rr6\J 

Islets of Langerhans are found in 

(A) Spleen 

· (C) Liver 

(A) · LDdi!r6mlrrrru. 

· (C) 8i6\Jroi;r6\J 

7; Bone marrow is the 

(A) Cradle of WBC 

(C) Cradle of Platelets 

'"@Lil L/ l1l !il .-oi$l-.,-6irru 191 

(A) GruGir6'lm ~@liilliGTfl6irr Giorrl-"1-Gil 

(C) )'OL6'lL ~@JliilliGTfl6irr G)'OITL"l-6\J 

RAGS/16 4 

(B) Thioba.cillus thioxidans 

(D) Bacillus anthracis 

(B) .-oJ)'OGu..irrurr616llffi> .-oJ)'OGUJrr ~lii61L6irrffi> 

(D) Gu616\J61Jffi> ~6irri5Ji;rrrG1\Slffi> 

r,,{ Cytoplasm· 

(D) Mitochondria 

(B) .-oJlfLGLrrt.Slmrr1Hil 

(D) .-oJLDLGLrrllirrdi!TLrflUJrr 

. gPf P.ancreas 

(D) Pituitary gland 

(B) "'""""'UJ Lil 

(D) t.SlLl!d,LLrfl a;i;rut.Sl 

r,{ Cradle of RBC 

(D) None of the above 

. (B) 61ruuL/ ~WJffilliGTfl6irr Q)'OITLllj-6\J 

(D) Glll G6ll ®.r.61 u t.Sl L@ Girm6'l ru "l 191 Lil @6\J 6!l6ll 

x 



8. Which of the following statement of Bishop Caldwell about the Dravidians is wrong? 

T. They had minstrels who recited songs in festivals 

IL They acknowledged the existence of God 

III. They had laws and customs 

·IV.· They had lawyers and judges 

(A) I (B) II 

(C) III. Jj#'f IV 

I. ~GUr'rffiffi u6'irrtq.6'lffiffiGTfl6il urr@GUp;riJffirrffi u rrLiErTffi6'lITT 6'lGU~i51(!9)i;pi6"TrT. 

IL ~ 6lJ n-".rr "L 6lJ .rr .@® u u ..,i!i qriJ IDI.;; G "rr 6'iML6'lrT 

III. ~GlJrfffi~""® lfL_Lri,Jffi1e:9tb, U\,)18;ffiri.Jffi~tb .@®)i;i!i6'l 

IV. ~GUrrffiGTflL~~G\J GU\,)18;"!&(5r'rffi(5tb, .ffi~ui51ffi~tb .@®)i;pi6'lr'r 

(A) I 

(C) III 

(B) II 

(D) IV 

9. Which Delhi Sultan founded the city of Jaunpur? 

(A) Iltutmish 

(B) Ghiya,suddin Tughlaq 

~ Firoz Tughlaq 

(D) Mohammad bin Tughlaq 

(B) .$1lUrr1n~Gi!r ~8;G1T8; 

(C) LSlG:~rr~ ~.;;GIT.;; 

(D) . (lflffiLD~ LSlGi!r ~.;;GIT,;; 

x 5 RAGS/16 
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10. From the following pairs,, choose the incorrect pair regarding the History of Education and · 

its years in India 

yRecommendations of 

, Raleigh Commission 

(B) · .Wood's Despatch. 

(C) Hunter Commission 

. (D) Sergeant Scheme of Education 

@~6\J 6ri9J 1Ji6Uj!)IT6"1" @06>6WT? 

(A) G~Q\l ®@G>Sl6'r uill)i;1916ID~io.rr 

(B) ,,_L_ciu ..!'>IJDlffi06>1n 

(C) !i!!DGWLIT @j@ 

(D) 1rnirQ!J56'rL. 1n6\J.Bl ~L.ub 

1880-82 

1854 

1882 

1944 

1880-82 

1854 

1882 

1944 

11. Ishwar Chandra Vidyasagar's name is associated with to which social reform? 

. (A) Prohibition of child marriage 

(B) • Abolition of Sa ti 

pl( Widow Remarriage. 

(D) Abolition of Infanticide 

(A) @j !J))i;al iJi ~ (!'i LJl6WT i!;aiiJi 1Ji"6> L Q lfuJ ~6iJ 

(B) "-L6'rB>LaJL <iJ!l)llJialQJ iJi@i!iiJi6\J 
~ 

(C) .Bl 1Ji06> ru ,..rr L1l !!JI L1l6WTLD 

(D) i¥iB>6UaliJi06>W 1!5@:$1Ji6il 

RAGS/16 6 



12. In which Five Year Plan, the growth inodel given by P.C. Mahalanobis was applied? 

13. 

(A) Fifth Five Year Plan (B) Fourth Five Year Plan 

(C) Third Five Year Plan pf' Second Five Year Plan 

6r)i;~ tB)i;~rrQ/or@ ~L.L~~ru. tSl.§1. LD~GUGp;rrt51oiu ~ml~~ 61JGTTrr6§18; Ga;rrL.urr@ uUJ6'ruG\~~uuL.L§J? 

(A) · 5-61.J§J tB)i;~rrdirr@ ~L.L.'.lii (B) 4-61.J§J ffi)i;~rrQ/or@ ~L.Llii 

Who is the· Chairman of Thirteenth Finance Commission? 

Jllf' Dr. Vijay Kelkar . (B) KC. Neogi 

(C) K. Santhanam (D) J.M. Shelat 

13-61.J§J ~~ffi@.iQg61Sl6'r ~m~GlJrr UJrrrr? 

(A) · LrrffiLrr .. G>Sl!RU:: Ga;rua;rr 

(C) K. ".ffi~rr6mlii 

(B) KC. ~GUJrrifil 

. (D) J.M. G~GUL. 

14. Given below are two statements; one labelled as Assertion (A) and the other as Reason (R) 

Assertion (A) : India's strategy for industrial development witnessed major change in 
1991. 

x 

Reason (R) Until 1991, producers 
. ·competition .. 

were given limited chance ·for innovation and 

(A) (A) is correct but (R) is wrong 

~ Both (A) and (R) are correct and (R) explains (A) 

(C) Both (A) and (R) are correct but (R) does not explain (A) 

(D) Both (A) and (R) are wrong 

£G~ Qa;rr@d;a;uuL.@mffi @lfoo@ 61.JrrMlUJffiia;.nlru (A) ""-JD"6l!D'4lii LDJD!!)llii (R) a;rrlf-~~'4lii @.ii6J8;.$1!D§J 

""-JD!!)I (A) . @,ffi~.UrrG>Slru Q~rr~ru QP6'rG6mJil!D~~Jila;rr6m GlfUJro~L.Llii .1991-ru Qu®Lii 
. lDrTJD(D~@~ffi a;Q/orL§J 

a;rrlf-lii (R) · 1991 61.JGIDlf, y~llJ a;oo@t5l1q-uy tn)il!!)llii GurrL.1q-8;a;rr6m 61.Jmuuy, 

2-JDLI~~UJrrGTTrrffi~ffi@j @.ibdl!D)i;G~ a;rr-uul...L§J 

(A) (A) Ifill, ~6mrrru (R) ~61.J!!)I 

(B) (A) tii)iJJj)llii (Ji) @lfQ/or@lii lfiflUJrr6mG~ ~Jil!!)Jlii (R), (A) m61J G>SlGTTffi@.iifil!D§I 

(C) (A) 'tn6!!)Jlii (R) @lfoo@lii lfiflUJrrQTG~ ~6mrrro (.R). (A) "6)61.J G>SlGTTd;a;GlSlroGmGU 

<P> (A) tniiJwlii (R) @lfoo@lii ~61.J!!)I 

7 RAGS/16 
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15. Wh~as the President of the National Conference founded in 1883? 

~ Anand Mohan Bose - (B) ·A.O. Hume 

(C) Pherozeshah Mehta . (D) Dadabhai Naoroji 

1883-GiJ G~ITriiilJIGJSIB;"uul..L GlbifllLI LDrtp;ITL..tq.m 1b"6>GUrurr lLIITrr? 

(A) 

(C) 

qi,...,)i;~ GLDITffim GuIT.ru 

GluGgIT~~IT GLO~lbIT 

, 
(B) A.O. ~~lh-J,t.b 

16. Match List I with List II and select the correct answer. usmg the codes given below 
the lists: 

List I List II 

· (Reformers) (Movements) 

(a) Bal Sahstri Jabekar l. · Parsi Law Association 

(b) Guru Ram Singh 2. Paramahansa Mandali in Maharashtra 

(c) Debendranath Tagore 3. Navdhari Movement 

(d) Dadabhai Naoroji 4. Tatwabodhini Sabha 

(a) (b) (c) (d) 

(A) 3 4 1 2 

(B) 4 3 2 1 

(C) 1 3 2 4 

~2 3 4 1 

ruiTl"6>"' I ~Lm ruiTl"6>"' II "6lmu GluIT®~~ ruITl"6>8'1E~li;@i .Sw Gl1EIT(j)1i;o;uul_(j)oimr GllbIT@iutS1..sl®Jii@ . . 

B'ITl lLI IT@ir GJSI €6) LuSI "6)6'1 ~ Gib IT 611 Q B'UJ IE. . 

ruiTl"6>"' I ruiTl€6l"' II 

(air~®~lbeJIT~IEGir) (@lLiffi1Eri.J1EGir) 

(a) UITGU 8'ITo;iu~ITl 2JlGUffifr l. UITirifl B'LL 8'ri.JIELD 

(b) @iQljgITtD iflri.J 2. LOffiITgIT~tq.gITGJSIGiJ ugLb~mB' LO@TL..sl 

(c) GlbGu)i;~gp;IT~ lbIT""-ir 3. pi 6lJ lb IT ITl @lLI d;ffi tD 

(d) lbITlbltUITUJ GJp;ffiGgIT~ 4. l"~@ruGuIT~6'11 8'"6>U 

(a) (b) (c) (d) 

(A) 3 4 1 2 
(B) 4 3 2 1 

(C) l 3 2 4 
(D) 2 3 4 1 

RAGS/16 8 x 



17. The Newspaper New India was published by 

(A) · ·v.v.s. Aiyar 

jji'f Annie Besant 

(A) V.V.S. i'fllLiiT 

(C) . 2916'rd1Qu,,6'!L_ 

(B) Subramanya Bharathi 

(D) Thiru.Vi.Ka. 

(B) ffiugLD6WflLI urrg::bl 

(D) ::bl®·Gl51.a;. 

· rn. Which of the following is correctly matched? 

·(A) VanchiAiyar 

(B)' Annie Besant 

~ Chidambaram Pillai 

(D) Subramanya Siva 

(A) rurri@j§l i'fllLIIT 

(B) 2916'rd1Qu,,6'!L_ 

(C) §l~Li:>ugli:> L51m@fil 

(D) ffiU gLD""1rlLI §1 QJ rr 

Madras Mahajana Sabha 

Madras Native Association 

Bharatha Matha Association 

South India Liberal Federation 

GLDLgrrciu LDlhrT@ii6'T lfUrr 

GLDLgrrciu Gp;L_"l-Gi.J lfri.Ja;Li:> 

urrg~ LDrr~rr lfri.Ja;Li:> 

Q~@dJ)i;::bllLI 6lSl(5\~ffiQl .;;,,_LLffilDULj 

19. . If 3 -[1.6 - {3.2- (3.2 + 2.25 + x)}] = 0.65 then the value of xis 

x 

(A) 0.3 

J£*f 3 

(B) 0.7 

(D) 7 

3~[1.6-{3.2-(3.2+2.25+x)}]=0.65 .,-d]GiJ x -6'rrn::blu'-l .· 

(A) 0.3 (B) 0.7 

(C) 3 (D) 7 

.. 9 _ RAGS/l6 
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20. How many cubes of 3 cm edge can be cut out of a cube of 18 cm edg!'l? 
(A) 36 rjl/f 216 

(C) 218 (D) 432 

661.rrltbq 18 Q5tE Qs;rr.o.rL s;m 8':1j11/:l;~.ul@)i;i91 661.rrltbq 3 Q5tE "-muu "1":i;IOmm s;m8':1jil/ffils;m61T Qrul.Jq. 
"1"@8;s; (lJl "1-lll Lii? 
(A) 36 (B) 216 

(C) .218 . (D) 432 

21. The. difference of two number~ is 20% of the larger number. If the smaller number is 20 
then the larger number is · 
fM' 25 (B) . 45 

(C) 50 (D) 80 

@@ "'°.,;,,,.s;sf!Girr 66l:i;~UJrrlftb, QuiflUJ "'°.o.r6'0flru 20%. 81iDJUJ "'°.,;,,,. 20 "1".miru, QuiTIUJ "'".,;,,,. 

(A) 25 (B) 45 

(C) 50 (D) 80 

22. Find the volume of a sphere of radius 10.5 cm · 

(A) 1386 cm3 
. · ~ 4851 cm3 

(C) 3651 cm 3 (D) 2456 cm3 

~I/Lil 10.5 Q5tE "-mLUJ ~® Gs;rrm:l;~Girr s;m ~GIT6lj s;rr.,;,,,.s; 

(A) 1386 Q5tE3 (B) 4851G1FtE3
· 

. (C) 365fQ5tE3 .(D) 2456 Q5tE3 

23. Simplify: 

1 1 1 . 
20- + 30--15- =? 

2 3 6 

(A) 34.!. !)lJ(· 35~ 
6 3 

(C) 35~ (D) 45.!. 
6 . 3 

s;®li;®s;: 

1 1 . 1 
20- + 30- -15- =? 

2 3 6 

(A) 34.!. (B) . 35~ 
6 3 

(C) 35~ (D) 45.!. 
6 3 
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24. The difference in compound interest and simple interest on a certain amount at · 

10% per annum at the end of the third year is Rs. 930. The principal amount is 

(A) Rs. 20,000 

~ Rs.30,000 

. (B) Rs. 25,000 

(D) Rs. 30,500 

6ll@Li!;~JD@i 10%• ruL"l- ~::i;i!;~G\J ('l!l6irrJDrr~@a;ffil6irr @"l-6151G\J Vl® @i£61~t51L_L G::i;rr66la;u516irr LD:f9! B<i.L@ 

rul_"l- lDJD!l)JLb ::i;..Ti rul_"l-a;.rrl6irr 6151i!;~turrlfLb @· 930 .,-..TIG\J, <!!lllfGiJ G::i;rr66la; 

(A) ®· 20, 000 

(C) ®· 30,000 

(B) ®· 25,000 

(D) ®· 30,500 

25. The difference between the cost price and sale price of an article is Rs. 240. If the profit is 

20% the selling price is 

(A) . Rs. 1,240 

(C) Rs. 1,640 

(B) Rs. 1;200 

pit'Rs. 1,440, 

Vl® Gurr@ffil6irr, 6151tiJJD 615166>Ql LDJD!l)JLb <!!l!Lli;a; 615166>Ql8;@i &'i)66>LGtu "-.ffim 6151p;~turrlfLb @· 240. QlrruLb 

20% '"..Tl Qi' 6151 JD JD 6151 66) Q) . 

(A) ®· 1,240 

(C) ®· 1,640 

(B) ®· 1,200 · 

(D) ®· 1, 440 

26. Find the single discount equivalent to a series discount of 20%; 10% and 5% 

x 

(A) 32% (B) 21.6% . ' 

? 31.6% . (D) 32.6% 

(A) 32% · 

(C) 31.6% 

11 

(B) 21.6% 

(D) 32.6% ,, 
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27. A set of possible data values is called 

(A) Attribute (B) Degree 

(C) Tuple ~ Domain 

lblJ"GtJ&.rrlGirr <!916'>6'!~§1 UOOLjffi6'lO!TlL!t.b !!h!!)JGl.l§I ~@jt.b. 

(A) u6<ITTy (B) Li"!-

(C) ~ut5lru (D) Q UT 6'l LD GifT 

28. is the National Nodal Agency for responding to computer security 
incidents as and when they occur. 

-(A) CCA (B) CAT 

~GERT-In (D) NIC 

o;.,.fl6llfi LI rT i!jiffirTU Lj lfLDU )!iibLDrT6'T t5l I) Bolf6'>6'T 

ffe!!)J6l.l6'Tt.b ------ ~@jt.b. 

IOJlDU@t.b Gurr@§I GilftLJG\iu@t.b Gib§ltLI 

. (A) §1§1"1 (CCA) (B) §l<OJ"i- (CAT) 

(C) §1,@~ir"I- - ffi"'Girr (CERT - In) · (D) OTGirrffi§l (NIC) 

.29. What does the Tenth Schedule of the Indian Constitution deal with? 

(A) Names of States and Union Territories 

~ Disqualification on ground of defection 

(C) Panchayats 

.(D) Nagarpalikas 

.@Ji;i5l lLI ~ I) §i tLI flJ6'l LD u t5l Girr LI ~lb rTGl.J §1 ~ LL6l.J 6'>6ffi .-r 6'llb @j pSl .Sffil GirrJD §1 7 

. (A). tnrri£Jrori.io;Gir tndJ!!)Jt.b \i,j,6llfitLI6" t5ll)Glb"ri.Jo;.rrl6" GutLJiro;Gir 

(B) o;L_§l ibrTGl.JG\i lb6'>L 

(C) u i§IFrrtLJ ~§I i£I !!)/ 6l.J 6'Tri.J o;Gir 

(D) )!i&iru611lo;rr 

.30. Article 351 of Indian Constitution provides guidelines for the. development of 

~ Hindi Language (B) North East Regions 

(C) Hill Areas (D) Coastal Regions 

(A) .@Ji;i5l Gtnrr~ 

(C). LD6'lflJULI@)i5l&Gir 

RAGS/16 12 

(B) 6'JL,ffil~.S@j tSll)rr)i;~tLiri.J&Gir 

(D) ffiLlDffi6'llJ"U tSll)rr)i;jltLiri.J&Gir 

I 

9® ri.J ffil 6'lmru y 
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31. Swaran Singh .Committee (1976) suggested the inclusion of a separate chapter. on 
---"-----in the Indian Constitution. 

(A) Fundamental rights 

ptlf' Fundamental duties 

(C) D~rective principles ofstate policy 

(D) Constitutional w~its 
, 

Giu6lJr,rrn B'lriu @)@ (1976) .@,!i;~UJ .&1r.r81UJ6U66HDUL.jdo lfLL!i;~rn 6T)i;i!i <&ILDlf!i;<>oli!i jjl(l!j i!i6'll U@j~UJrrdia; 

Qa;rrom@ GlJlf uITl)i;1916'>r,r G"li.li!ii9J? 

(A) ~9-UU<>olL "'-ITl<>ollD8i6ir 

(B) ~9-UU<>olL ffiL<>oltD8i6ir 

(C) ~r,r81UJ6U<>oJIDuLJ G)!5)!518i6ir 

(D) ~r,r81UJ6U<>oJIDuLJ ID@ll (tp<>olf!J 

32. ·Which article of t,lie Indian Constitution says that the President shall be elected by the 
members ofan electoral college? 

(A) Art. 50 

,JPJr. Art. 54 

.@,!i;~UJ 1!66~TIT ~ u ~ Gi!i rT i!i6il 

~r,r81UJ6U<>oJLDu LJ @Sl~ UJrr 191? 

(A) @Sl~ 50 

(C) @Sl~ 54 

(B) Art. 52 .. 

. (D) Art. 56 

@5 W rrt.0 "'-W u t5I roir a;mrr6il Gi!ir'r.IBGi!i@dia;u·u @GlJ rrir 

(B) @Sl~ 52 

(D) @Sl~ 56 

6Trnw 

33. The first hour of every sitting in both houses of Pa)'liament is known as the 

(A) Full hour 

J/Bf· Question hour 

. . 

(B) Zero hour 

(D) Motion hour 

""-!l)JLD .@,!i;~UJ 

. • . urrr,rrr~LDrnw!i;~rn fl'l/6'>QJ8;6Tfi@IJLO jji6i.lG6lJrr(l!j ~LDir@Sl~ (tpi!i6il LD6iJITI G)!ir,r!i;<>oli!i 6Trn~ lffi.f!J G61Jom@t.O? 

(A) C'P@ G)!ir,rt.O 

(C) G8icir6lll G)!ir,rt.O 

x 13 

(B) !J1i6UJ G)!ir,rt.O 

(D) ~irLDrr~ G)!ir,rt.O 
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II 

34. The graph given below shows linear path of a car with mriforni speed. The ~peed of the car is 

. 330 

Q) 

" § 165 
""' "' 0 

. (A) 60 km/hr 
JPlf" 55 km/hr 

55 

1 2 3 4 5 
Time (in hours) 

6 

(B) 50 km/hr 
(D) 45 km/hr 

£C:w Qs;rr@ffis;uuL_@Girm 6l.JQll)"uLLh vi@ s;rrir C:p;irG:s;rrL_@u urr61l!PUS!ru SJC:'l. 81)"rr6lll · C:rus;p;p;iru 
QiffiJ6l.J61ll08; <15!!51ffillil!!J~· s;rrrll<ir C:rus;Lh · 

. 330 

275 

·~ 
.g 220 
G'ii . 
......._.. ' .. 
·~ 165 
~ 

110 

55 

(A) . 60 Sil.t.5./LO...fl 

(C) 55. Sil.tE./LO...fl 

RAGS/16 
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(B) so Sil tB./ LQQ!fl 

(D) 4s £.w./LDEWi. 
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35. How many terms are there in the series? 

201, 208, 215, ....... 369 

(A) 23 (B) 24 

~ 25 (D) 26 

t51~6l.J(!9Lil QlbrrLrflro :!!...mm or6'irr,,;o;ir or~lbm6'r? 

201, 208, 215, ....... 369 

(A) 23 (B) 24 

(C) 25 (D) 26 

36. The marks obtained by 10 students in an examination were as follows : 

70, 65, 68, 70, 75, 73, 80, 70, 83, 86. 

Then the mean deviation about mode is 

(A) 7.71 

(C) 54 

70, 65, 68, 70, 75, 73, 80, 70, 83, 86. 

(A) 7.71 

(C) 54 

Jlllf' 5.4 . 

· (D) 5.6 

(B) 5.4 

. (D) 5.6 

., 

37. For a.distribution mean= 65, median= 70 and coefficient of skewness= - 0.6. Tpen mode 

and coefficient of variation are respectively 

x 

(A) 38.5 and 80 

K80and38.5 

(B) · 55 and 25.64 

(D) . 25.64 and 55 

~(!9 Li~6l.l"51.~ lf~rrlfrfl ; 65, .@mL/5lmru ; 70 Li>dJ1J)JLil (}llirrl..'uiiQlli@ ; - 0.6 . .@6l.ldJrfjl6'.r (!Pili@ LDJD1J)JLD 

LDIT1J)JUITL@.$ Qlli@ (IP6!l!!J<:UJ 

(A) 38.5 LDJD1J)JLD 80 

(C) 80 LDJD1J)JLD 38.5 

15 

(B) 55. LDJD1J)JLD 25.64 

(D) 25,.64 LDJD1J)JLD 55 
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38. 

• 

Which of the following measures are effective for soil conservation in India? 
I. Avoiding crop _rotation 
II. Afforestation ·, 
III. 
IV. 

(A) 

Encouraging the use of chemical fertilizer 
Limiting shifting cultivation 

I and II ~ II and IV (C) III and IV 

@6UJDilJIGir @Ji;:'blturr6!Sl~ ..,.;;:'bl JBl""!DJii!!' tn6llirr urr@a;rruy 6\JWl QP6'lJD8iGir · 

I. "'WJD.91 QP""!D 156!Slir~15<il 
II. · a;rr@ 61Jmirt'Jy 

III.· @1wrrtu6'l IQ...lfLb IQ...uGturr&l~15.,,ro~ 15@~15<il 
IV. @Lili Gutu(!!i&i~JD 6!Slru8'rrtu~6'l!!'ffi a;L.@uu@~@!!'<il 

(A) I tnJiJ!!JJLil II (B) II tnJil!!JJLil IV (C) III tnJiJ!!JJLil IV 

(D) I, II and III 

(D) I, II tnJililJILil III 

39. In India, which type of forest among the following occupies the largest area? 

(A) Montane wet temperate forest 

Jl1J1' Tr~pical moist deciduous forest 

(B) Sub-tropical dry evergreen forest 

(D) Tropical wet evergreen forest 

@Ji;:'b111Jrr6l5l<il £Gw Qa;rr@ffia;uuL.L orJi;:2; 6lJ6'l8i a;rr@ u51a; <!91:'b18itnrr6'l Ulfuum6'l61J Ga;rrmrL@? 

(A) tn6'JGU iSllfG!!'"' fflf u5115 GG1Juu a;rr@ . 

(B) IQ_LJ "91 lLJ6'l tD6llirrLGU 6UJDmrL Uffi6'JLD @6'lGUffia;rr@ 

(C) ~lLJ6'l lDmrLGU fflf @6'lGUILJ:'blr'ra;rr@ 

(D) "91tu6'l R'lf Uffi6'llD @6'lGUffia;rr@ 

40. The primary goal of a disaster preparedness plan is 

~ to protect the population 

(B) 

(C) 
(D) 

to protect the valuable resources 

to protect ~nvironmental and health personnel . 

to produce needed.funding· 

GuITlLfr·qi,tu~15 :'blL.L~:'bl~ @ffi&ltu ®dilffiGa;rrGir @@6llrT@jLil 

(A) tnffi8i6'lffi UfT@8ifTffi8i 

- (B) tn:'bluy u51ffia; G1Jmli.Ja;6'lm un'@a;rrffia; 

(C) 

(D) 

RAGS/16 
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41. SMAP is a/an 

42. 

43. 

x 

· Jllf Satellite (B) Mobile apps. 

(C) iPhone (D) Internet search engine 

SMAP GT6'Tu191 ~® 

(A) Q,,turiJ..,a;.ffi C:a;rrw (B) 6'la;uC:u§I utu6'Turr(ij\ 

(C) 1J3-0°0C:urr6'T (D) @6'>00-tul"m C:l"(ij\ @tu)i;i5l~tb 

Who is the Sixth Governor of Uttarkhand? 

)Ill!' Krishnakant Paul 

(D) Banwari Lal Joshi 

(A) Axiz Kureshi 

(C) · Devanath Kunwar 

'1..~IO~a;rrdirrl_ Lnrr.@61l~i516'T ~!!Jrrru191 a;rufr6"0Tfr turrfr? 

(A) <!9JGTD"'1l @jC:~~ (B) ffil(llj~oo-a;rr)i; urrG\J 

(C) C:l"rup;rr~ ®"'1rurr (D). urorurrrrl 6\lrrG\J C:IJlrr~ 

Match the following : 
(a) Wangwei 1. Kathakali 
(b) Krishnan Kutty 2. Painting . 
(c) R. K. Lakshman 3. Sculpture 
(d) Nek Chand 4. Cartoon 

~(~) (b) (c) (d) 
1 4 3 

(B) 2 4 1 3 
(C) 4 1 3 2 
(D) 1 3 4 2: 

£w.ffia;dirrLGllrD""!D Gurr®~i9Jffi 
(a) ru rrri.J G ru lLi 1. ffilOffiITTl 

(b) ffil(llj~OO-ro @jLl!j- 2. Wl@SIUJtb 

(c) ~rr.C:a; .. 6\l.ffi~Lndirr 3. . lflriJu.ffia;6'>6\l 

(d) . Gp;.ffi ")i;~ 4. ffi(flj~i9J u u LLD 

(a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 2 4 1 3 
(C) 4 1 3 2 
(D) 1 3 4 ·~ 

~ 
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44. 

_, 

- Match the following 

(a) David Cameron 

(b) Vassiliki Thanou 

(c) Francois Hollande 

(d) Filipe Jacinto Nyusi 

(A) a-3; b-2; c-4; d-1 

'~ a-2· b-3· c-1· d-4 ttlJIEIJ . ' ' ' ' 
(C) a-1; b-4; c...:3; d-2 

(D) a-4; b-1; c-2; d-3 

t516'r6lJ('96lJ..-rGiJ!i>OIDJD Qurr®i!;@lli: 

. (a) C:L6l51L C:llitn(!!i6'r 

(b) 6l516lQ\lii;.$l ibC:..-rrr 

- (c) - t5i1Trrrlil11irroiu C:~rr6llrrEii>rL_ 

(d) - t5I Q\l Li Q tJ5 GTI5l Ji; C:ib rr ~ !!JGTISl 

(A) - a-3;b-2;c~4;d-l 

(B) a-2; b-3; c-1; d-4 

(C) a-1; b-4; c~3; d-2 

(D). a-4; b-1; c-2; d,-3 

1. 

- 2. 

3. 

4. 

1. 

2, 

3. 

4. 

[ 

President, France 

Prime Minister, U.K 

Prime Minister, Greece 

President, Mozambique 

@i"l-lLI IT Bii!;lbQ)6llru n-• .°ot511Trr6'roiu 

t5i1Tlbtii uiJi;:ffilrTl. !!J.C:l!i. 

t5i IT lb LD LD Ji;:ffil rfl , .$1 /i'oiu 

45. International Y:oga day is observed on -
I 

(A) 19th March A" .21'' June 

(C) 28'h June (D) 19th May 

(A) LDrTITdo, 19 (B) 1!il"ffi. 21 

(C) !Jl"6'r. 28 
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46. Which among the following Indian sports person is not part of the trio who won the silver 
medal in World Archery Championship at Copenhagen in August 20Hi? · 

(A) Deepika Kumari 

·. (C) Rimil B~riuly 

JB) Laxinirani Majhi . 

ptf' Mangal Singh Champia 

L516'!6lJQ!iLD .@)i;:$ltu 6l516'lGITtuITL@ 611'r,rITlliGiflcil, qi,lliciu@ 2015 ciJ, GlliITu6'TG~,.6bf]ciJ )!i6'lLGlu!iJp:> "-QJlli 
· 6l51cii6l51:2;..,w lfITillLSl tu6'r u LL:2;:$1 lD'"ITw G16lJ mGifl.u u ID"'"t.D Q 6lJ 6'rp:> (Y>GU IT '"Gifl.cii u ri.J ® 6l].$1,;;,.IT ID .@)5:$1 tu 

6l516'lGITtuITL@ 6i'ir,rIT tuITIT? 

(A) ~L511<IT @;lDITrTl (B) . QJ~u\1r,rIT6imf1 tnIT!£l 

(C) rTluSlciJ LjrTlllj6\\l (D) · tnri.illicil ~ri.Jli; lfITLbtSituIT 

· 47. The committee that has been set up for prom.otion of Sanskrit language 

· , N. Gopalaswami Committee (B) Sanskrit Committee 

(C) R.V. Easwar Committee · (D) Kirit Parikh Committee 

. lftn®.$1@1D GltnIT~6'lUJ·L5Jr,ruQJuu@:2;1D ~6'ltnli;lliuLJLL @;@ . 

(A) 6r6'r. GiJiITLJITQ)ffi6lJITu5l @;@ (B) lfLDOOilil@ID ®@ 

(C) q/,IT.6l51. R'OOGUIT@;@ (D) .$1111:2; LJITrTlli;@;@ . 

48. Name the Heal.th Insurance. Scheme for persons with disabilities 

(A) Rashtriya Swasthiya Bima Yojana 

~ Swavlamban Yojana 

(A) 

(B) Janashree Bima Yojana 

(D) AAM Admi Bima Yojana 

(B) 1£6" \d!t t.'itnIT GUJIT1i<]WIT 

(D) qi,Lii qi,:2;u5l t.'itnIT GturT@66"IT 

49. The Archaeological survey of India discovers 'Harappan House recently in 

Jti't!' . Chandayan Village (B) Nellikuppam Village 

··. (C) Kothangulam Village (D) Karimedu Village 

~ r,ru u IT .@cil Q):2i6'>1D lfLD u :2;:$1 ciJ .@)5:$1 tu Q ID IT ciJ Q u rr ® GiT lfITGGU u51 w IT 6r)i;ID .$1 r,rITw:2;:$1 ciJ IEdm"@ L5l "t-:2i1DwIT? 

(A) "fe1Drrtu6'r .$1r,rrrwt.D (B) Glp;cii6\\lli;@;Liut.D .$lr,rf[LDLD 

(C) Q,.rr:2;1Dri.J@;GITLD .$1r,rrrwt.D (D) llirTlGtn@ .$1r,rrrwt.D 
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50. What is the non conservative force in the following forces? 

jJlf' Frictional force (B) Spring force 

(C). . Gravitational force (D) · Force due to Earth's gravity 

(A) "'--llrrti.J61J 6lSl6'l8' (B) "'®Gir 6lSl6'l8' 

(C) Fl'rruy @Sl6'l8' · (D) y@Slu%uy 6lSl6'l8' 

51. · Which of the following is a wrong Boolean expression? 

(A) 

(C) 

(A) 

(C) 

A+AB=A 

A(A +B).=AB 

A+AB=A 

A(A +B) =AB 

/jllf A+A=A 

(D) A(A + B)= A 

(B). A+A =A 

. (D) A (A + B) = A 

52.. Certain metals and compounds carry hign electric current a.nd have zero resistance at very 
low temperatures. The ·materials possessing this property are known as 

(A) Resistors. (B) Capacitors 

(C} Dielectrics ifil'J"' Super conductors 

yjl(!'i 6160 "'--C:6UITffiffiiffiGir lD!iJl!)ltb ~6'lGUffiffil6'r ffi6\)6')6UffiITT uSl8ik.@i6'lJD/iii5 Qruuu~6'l6Uffiffil6il ~!5JffilDIT6"1" 

uSI 6'rC:mrrL.L:2;6'l 15 "-I tb a;WJ uSI 6'r 156'l L6'l lU "-I tb Q ffilTGlITTG\ ffi L:2;§1ffil6'TJD..,.. @Li LJ .,;.,-6'l LJ Q GU GJfl u LJ Gl :2;§1 tb 
Qurr(!'JL.ffiffi . .rmuuG\tb. 

(A) · . uSl6'!156'lL 

(C) · uSl6'!8irruyu Qurr(iljL.ffiar 

(B) 

(D) 

53. The property of rotating the·plane of vibration of polarised light by certain crystals is called 

(A) Polarisation 

~ Optical activity 

(B). Diffraction 

(D) Interference 

Yil® 15m 6lSl6'lm6lJ!iJJD y;iffilu516'r ~i5Jrr61J:2;15mtb lflru utq.ffiffiiffiGrrn.O i5J®uuuu®tb Q8'lU'"5l6'r QulUrr 

(A) 15m6>Sl6'lmrurrffiffitb (B) @Sl.rrltby 6lS16'lm6lJ 

(C) y;iffilu51lUGil @S)..,..,. (D) @il!)lffi.SL.® 6lSl6'lm6lJ · 
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54. Match the following : 

(a) Buna-S 1. · Isoprene· 

(b) Neoprene 2. Acetylene 

(c) Natural Rubber 3. Ethylene glycol 

(d) Polyester 4. Styrene 

(a) (b) (c) (d) 

? 4 2 1 3 

(B) 2 1 3 4 

(C) 4 3 2 1 

(D) 1 3 4 2 

Qurr@:'ii§I": 

(a) · tSl\!,j,mrr - S 1. ffiGd'rrtSl rll 6irr 

(b) .rf,l GUJ rrtSl rll 6irr 2. ~§I L._1.q.68 6irr 

(c) . .@UJJD..,,. ~uur'r 3. or:'!;~ 68 6irr $1.., GTT .;;,. rr ciJ 

(d) u rr 6151 or oiu L r'r 4. Qu 6'l Lr\l 6irr 

(a) (b) (c) (d) 

(A) 4 2 1 3 

(B) 2 1 3 4 

(C) 4· 3 2 1 

(D) 1 3 4 2 

. 
55. Consider the following statements and select your a_nswer. 

(a) Protciplasts are cells without a cell wall, but bound by a plasma membrane and are 
not totipotent. J 

(b) A hybrid produced by fusion of somatic cells of two species is called cybrids. 

' 
(A) (a) is correct (b) is wrong (B) (a) and (b) are wrong 

(C) (a) and (b) are correct (D) (b) is correct and (a) is wrong 

(a) 

(b) 

l_j G ~rrL G L rrtSl GTTrr.iu L or 6irru §I Q lfQJffiGlJ ~ 0 JD tSl GTTrr oiu LD rr d'Gi.mll mrr ciJ @;!Jl u u LL Q lfQJG\l rr ® tb , . . .. 
Lj G~ rrL Gui tSl GTTrroiu@1EGir CY'@:'ii~ JD 6irr Q u 0 JD 6'l 6lJ ~ ciJG\l . 

.@® GGlJ.[!)JLJ LL MJiJ!Dlmri.J1EG!fl6irr "-LG\lif Gld'cilffi6'JGTT .@6>l6lITT:'i;iliciJ (YlG\ltb, 6'llftSlrllL@ffi6'lGTT 
"-®GlJ rr .;;,.6\l rrtb. 

(A) (a) lfrll (b) iliGlJ.[!)J ftlilf"(a) LDJD.[!)Jtb (b) iliGlJ.[!)J 

(C) (a) LDJD.[!)JtD (b) lfrll (D) (b) lfrll LDJD.[!)JtD (a) iliGlJIDJ 
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56 The ~pecial type of antigen _in the RBC of Rhesus Monkey was discovered by 

(A) RudolffVirchow 

(B) William Harvey 

J/ilf' Landsteiner and Wiener 

(D) Best and Taylor 

Ii If~ <1wffilffil~ ®.ID~ ~6'ITT"!-1£6irr ( C:p;rniJ GT:® fr Q u rr(lljffi) .s6'ITT@t51 "l-Pii!i~ UJ rrfr? 

(A) _ (lljLrrrou 6'Slfr8'1Frrru 

(B) 6>Slro~UJLh !il!DfrC:ru 

(C) C:ro6'ITTL_~12-6'!fr tn!iJ!!)ILh QrutiJ6mrr 

_ (D) Qu~L_ tn!iJ!!)JLh GLrorr 

57. Tliromboplastin is relate\! with 

(A) Heart 

V'f'- Blood platelets 

-
p;C:l)'rrLhC:urrt51mrr~"!-6irr Gri!iG6mrr@ Qi!irrLfrLJ6'iLUJ~. 

(A) @10UJLh 

(C) @ITPii!i i!iL@ffi.sGir 

(B) Spleen 

(D) - Liver 

(B) LD6'im'~l)'QJ 

(D) - .sro'8"ro 

58. From the following pairs, choose the incorrect pair regarding the inscriptions of Asoka and 
its founder · -

(A) Captain Burt 

- (B) Sir Walter Elliot 

(C) J.H. Harrington 

jpf Tod 

Bhabru Rock Edicts 

Jaugada Rock inscription 

Barabar and Nagarjuna Hill caves 

Rampurwa Pillar Edict 

l1Jlii;.s6'im'L "'916'>..rp;~ §)6'>""1'ffi(§LD "'9JC:lfrr.srrl6irr UrT6'lJDffi .g;QiQrul_@li;.s6'lITTILJLD "'9J6'li!iii; ffi~@t5l"!-Pii!i . 

~tiJrurrGITfr.s6'lmtLJLh 1Frrfr.IDi!i6'lG>J. ®i!ilro _Gt~ i!iGUJ!lrr6m §)6'>.wi? 

(A) C:.su u;m- u frL_ 

(B) lffr ruriroC:Lfr GT~UJL 

(C) J.H. C:!il!!lrrlffilL6irr -

(D) LITL 

RAGS/16 

UITLI(llj UrT6'lJDffi .sroQruL_@ 

1£6tjffiLrT UITb6lJDffi .sroQrul_@ 

Ul)'rrufr tn!iJ!!)JLh' p;rr.srrfr1£"""' LDb6lQl @i6'lffiffiW 

l)'ITLDLjfrG>Jrr 191T~ .sroQrul_@ 
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59. Match List I with List II and select the correct answer using the codes given below the lists : 

List I List II 

(Kings) (Dynasties) 

(a) Devaraya I 1. Aravidu 

(b) Narasimha 2. Tuluva 

(c) Achyuta Raya 3. Saluva 

(d) Thirumala 4. Sangama · 

(a) (b) (c) (d) 
(A) 1 3 .2 4 

~ 4 3 2 1 
(C) 3 1 2 4 

(D) 2 1 4 3 

. G1JITl00>8' l "-L~ G1JITl00>8' II """"u Qurr®::i;~ G1JITl00>8'8i(§.$® £w Qi,;rr@.$i,;uuL..@mm G::orr®ui51615lQ9)i;i9J 
B'ITIUJITQ!T ..sl00>Lu5l00>Q!Ti!i G::oITIQj G8'uJ8i. 

G1JITl00>8' I 

(~IT B'ir a;oir) 

(a) QP::06Urrtb G::oGlJ ITITUJ ir 1. 

(b) )!i IT 61 Lb l1l ir 2. 

(c). · ~68i::O ITITUJIT 3. 

{d) ~(!!)lllOO>Ql 4. 

.(a) (b) (c) (d) 

{A) 1 3 2 4 
{B) 4 3 2 1 
(C).· 3 1 2 4 

(D) 2 1 4 3 

60. Who is the author of Kurinjipattu? 

(A) .. Seethalai Sathanar 

(C) Uruthirang Kannanar 

®!!51i@i6luurrL."rro ~61ITIUJir UJrrir?. 
~· . 

(A) Hi!i::Offiffi B'rri!ii:o""rrir 

(C) "-®i!i~ITri.J a;~-Q!Trrrr 

x 

G1JITl00>8' II 

(~IT i,;a;w) 

~ITGJ'l@ G1Jtb8'tb 

i91\§QJ QJ tb8'tb 

B'IT\§QJ G1Jtb8'tb 

a:rfilB>LD ruL.ba:Lb 

·Jl!lf Kapilar 

(D) N achellaiyar 

(B) a; i5l Q) ir 

(D) )!i6G8'mffiITTUJrrir 
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61. Match the following Personalities with their fields of talents. Select correct answer using 
the codes given below· the lists : · 

List I List II 

(a) Surya Kant Tripathi Nirla 1. Dramatist 

(b) Ramchandra Shukla 2. Poet 

(c) Premchand 3. Critic 

(d) Harish Chandra 4. Novelist 

Codes: 

(a) (b) (c) (d) 

JtH!' 2 3 4 1 

' (B) 1 2 4 3 

(C) 3 2 1 4 

(D) 4 3 2 1 

G1nIT@ffi1nuul_@ffim qi,L_1n6'lm <!9!.Ur'r1n6!\lm ili1!!J6'>LD6'>11Ju . GuIT®!i>ilil · .$~ffi@i!Diffi1n.uul_@ffim 

®!Di u5@1ncll Q\1 C'l>!i>i91 B'rfl llJ IT 6'T 6lSi 6') Lu5i 6'l6'T Ii> GID r'r)i> Q ID© : 

ULLq-llJGllI ULlq-llJ6il II 

(a) (§rTllJ 1nIT,!i;li; i1i!rfluITi1i! ,llilr'rroIT 1. )DITLffiLD 

(b) l)ITLD8'8',!i;ilill) e;li;Q) IT 2. ffi6l5il§r'r 

(c) t51Gvtb B',!i;!i; . 3. 6lSi lD r'r "''" r'r 

(d) ~IT~ "'Ji;ililvIT 4. ffi6'>1D llJ IT ifl rfl llJ rT 

®!Diu5@1nm: 

\a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 1 2 4 3 

(C) 3 2 1 4 

(D) 4 3 2 1 

62. In which Industrial Policy, industries in India were classified into three schedules? 

(A) . Industrial :Policy Resolution, 1948 ~ Illdustrial folicy Resolution, 1956 

(C) Industrial Policy Statement, 1977 (D) Industrial Policy, 1980 

"'felD Q ID ITWl !b Q'" ITITT6'lffi u516'r .$ ~ , @Ji;ilil llJ Q ID ITWl rD:;i'IT 6'l ro1nm i:y>6'r!J)I <!91 LL@J 6'>6'M'" 6!116'! 
.$~ t."1 rflffi1nuULL6'T? 

(A) Gi1DITWl!b G1nITGIT6'lffi ~rTLDIT6'Ttb, 1948 

(C) GIDITWlrD G1nITm6'>1n <!9!!Diffi6'>1n, 1977 
• t . 
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GIDITWl!b G1nITGIT6'lffi ~rTLDIT6'Ttb, 1956. 

GIDITWl!b G1nITm6'>1n, 1980 
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63. Rashtriya Krishi.Vikas Yojana was launched to enhance investment in agriculture during 
which Five Year Plan 

(A) Ninth Five Year Plan 

<pf. ·Eleventh Five Year Plan 

(B) · Tenth Five Year Plan 

(D) Twelfth Five Year Plan 

GGUG1Trroo §16'l!!JuSl6il C!fl::liGDL6'lL ~i151.,rfiffi@)Lb GJ!irrffilfilru "-®GU rrffiBiuul...L i;r'ir~llj.rflw ffirfl~ 6!SlBirrGiu 

Gwrr135Qlrr 6T)i;::i; m)i;::i;rroo@ i151L.i....~i1516il ~!DIC!f'BiUU@liJ::i;uul...L§J? 

(A) 5>6'ru::i;rrGU§J 1:8Ji;lbrroo@~ )$1L.Ltb (B) U~!bfT6lJ§J ffi)i;::lirrOO@~·i151l...LLb 

(C) · ui151QQJrrW!!JIT6ll§J 1:8Ji;::i;rroo@~ i151L.Ltb (D) u6'!.m1Qi;r00Lrr6ll§J ffi.!iilb"~®~ i151L.Ltb 

64. New Economic Policy (NEP) was_introduced in India in the year 

(A) 1990 ~ 1991 

(C) 1992 (D) 1993 

(A) 1990 

(C) 1992 

(B) 1991 

(D) 1993 

65. Actual Rate of increasing national income during X<h plan period was 
' . . JtHf' 7.6% (B) 7.1% 

(C) . 7.3% (D) 7.5% 

10611§1 i151L.L8ifT6ll~~6iJ G::i;81u16l1(§6l11TuSi6'! "-006'lLDWfTQJ 6l161Tr'r6816!Sllfil::i;Lil 

(A) 7.6 ;,::i;dl::i;Lil (B) 7.1 B'::i;dl::i;Lb 

(D) 7.5 "'::lidl::i;Lil 

66. Towns below 50,000 population will be covered under 

(A) .NUHM ~NRHM 
(C) NHM (D) All of the above 

50,000 ffi@jffi £~ LDffia;Gir Q::i;rrrna; Qa;rrOOL LILL-Lb "'""lb B'ITr'r,!i;::i;@? 

(A) G::i;81w J!iBii;rrrL.81 Bia;rr::i;rri;r6 G8'ai6l1 (NUHM) 

(B) G::i;a:lw J!irrl...@u[.j!!J6 &a;rr::i;rri;r6 GB'60lru (NRHM) 

. (C) G::i;a:lw 8i8ifT/i;ITl)"6 G8'a>ru (NHM) 

(D) GLDG6ll @i!DiUL51LUUL@Gir61T ~6'lQJ~§JLD 
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67. Which party advocated the programme of 'Council entry' during the Indian National 
Movement? 

(A) Congress Party 

,f' Swarajist Party 

(A) _s;rrffil8il~~ s;L.61 

(C) 8'lLI~rr1£1J21lLI s;L.61 

· (B) · Ghadar Party 

(D)' Justice Party 

· . (B) '"!Dir s;L.61 

(D) ~iEJffi s;L.61 · 

68. Match the following List I with List II and select the correct code given below the Lists : . 

List I List II . 

(a) ·Cabinet Mission Plan 1. 1940 

(b) Wavell Plan 2. 1942 

(c) Cripps Proposal · 3. 1945 

(d) August Offer 4. 1946 

(a) (b) (c) (d) 

(A) 1 ·3 4 2· 

J(li;r 4 3 2 1 

(C) 2 1 4 3 

(D) 3 2 1 4 

Qs;rr@ffis;uuL.@mw QJifJ..,,. I ~mlLI QJifJ..,,. II "-L~ £C:w Qs;rr@ffis;uuL.@mm ®JJ5lii)L."f.6\\l®)i;~ lfifilLirrs; 

C:1Dir)i;Q1D@p;~ Qurr@p;~s;: 
. 

6\l ifl ..,,. I Qjifi..,,. II 

(a) C:s;tSlQTL. i9Jl~ffi@>@ 1. . 1940 

(b) Q:QJQJQJ iEJLLtD 2. 1942 

(c) 8ilifluGiu iEJL.t..:Ui 3. 1945 

(d) ~s;Giu@ .91JJ5lffiros; 4. 1946 

(a) (b) (c) (d) 

(A) 1 3 4 2 . 
(B) 4 3 2 1· 

(C) 2 1 4 3 

(D) 3 2 1 4 
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·- 69. Divide Rs.6.72 in the ratio 5:3 

~- Rs.420, Rs.252 

(C) - Rs.430, Rs.242 

(!9.672-&J 5:3 GT6'r!!J @S18il::o:2;~6\J.LSJrfl8;1n 

(A) ®· 420, ®· 252 

(C) ®· 430, ®· 242 

70. Find the missing number in the series 

71. 

x 

"-J(ltf 184 

(C) 210 

(A) 184 

(C) - 210 

.12 8 y 
80 

12 8 y 
80 

4x+5y 
If 3x = 4y -then find · 

- · 14x+3y 

~·~ 
65 

(C) 5 
- 14 -

16 7 y 
207 

16 7 y 
207 

3 4 ~ . 4x + 5y . ~ . x = y 6T 6\) --GllT L1l u Lj 
14x+3y · 

(A) 
31 
65 

(C) 5 
i4 

27 

(B) Rs.520, Rs.152 

(D) - Rs.460, Rs.212 

(B) ®· 520, ®· 152 

(D) . ®- 460, ®- 212 

25 21 y 
[1] 

(B) 241 

(D) 425 

25 21 y 
[1] 

(B) 241 

(D) 425 

(B) 
65 

- 31 

(D) 14· -
5 

(B) 
65 
31 

(D) 
14 
5 

5 - 4 y 
9 

5 4 y 
9 
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. . 

72. A can d~ a certain job in 25 days which B alone.can do in 20 days. A started the work and 
was joined by B after 10 days. The number of days taken in completing the work was 

(A) 

(C) 15 

(B) 14~ 
9 

'1' 16~ 
3 

· ~® Gru6'>6\l6'llLI Q..,tiJi!il CY'"I-'"'" A '"®'"®Lil· )!irrl_a;m 25 · LDJDIDJLil B '"®'"®Lil p;rrL_a;ffi 20 ~@ilil. 
~ Qi Gru 6'>6ll6'l lLI A Q lfUJ lLI Q p;rrLrliJ iEl lLI ::!) 6151 @Ji; i!ji 1 0 p;rrL_a; (§.;;@i L5I G!6'Tir B GlfirJi;i!ji Q ..,tiJ.$1 ffi!JJ rrir. 
~ 6iJ Gru.., 6\l.,, lU if Q lfliJ i!il eyi "!-.;;,,; '"® tbi!ii.;; Q'" rr 6li.TL p; rrl_a;m 

(A) 

(C) 15 

(B) 

(D) 

14~ 
9 

16~ 
3 

73. Count the number of rectangles in the following figure : 

(A) 8 · 

~.18 

(A) 8 

. (C) 18 

RAGS/16 · 

' 

I 
I 

I 
I 

. 

. I 
.I 

(B) • 17 

(D) 20 

I 
I 

(B) 17 

. (D) 20 
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74. A can finish a work iri 18 days and B can do the same work in 15 days. B worked for 10 days 

and left thejob. In hciw many days A can finish the remainin'g work 

~ 6 days (B) 8 days 

. (C) · 5 days (D) 9 days 

~® C:61J6"6\)6"LLJ A. 18 )!iITL,,;ffilro c;;i,,t0191 CIJl"l-ffi.$lwITrr . .&iC:::; C:61J6"6\l~LU B. 15 )!iITLa;ffilro c;;i,,t0191 
CIJl"l-ffi.$lwITrr. B '"6"ru6lJrr 10 )!iITLIEm C:61J6"6\l Q,,t0191 @SIL(~ G"6"r!PJ 6lSl@.$lwITrr. u5%J C:61J6"6\l6"uJ A LDL@tb 

'"~::06"6'1 )!i ITLffi GTfl Qi Q lftLI i9I (IJl l<\-U u ITrT? . 

(A) 6 )!iITLa;m 

(C) 5 )!iITLa;m 

(B) 8 J!iITLB>oir 

(D) 9 )!iITLa;oir 

75. ·The capacity of a cylindrical tank is 246.4 litres. If the height is· 4. metres. What is the 

diameter of the base? 

(A) 

(C) 

1.4 ;n 

0.14 m 

(B) 

pr 
2.8m 

0.28m 

"'-Q96"6TT 6lJ "i-GlJ G::;ITL"l-u516"! 8'6'1.&JGTTGlj 2 46 .4 . Q\1LLrT8'ITT. .&1::;6"! "'-.lLI r,rtb 4 u5 LLrT <;r.,,\lQ) .&I l<\-U u IT'" 

@SIL_Ltb 6f6"!@? 

(A) 

(C) 

1.4 u5 

0.14 u5 

(B) 2.8 u5 

(D) 0.28 u5 

76. is a software that attempts to derive answers from the knowledge base 

x 

using a form of reasoning. 

jllf' · Inference engine (B) Rules based engine 

(C) Derive engine (D) Inference base engine 

U@J~::OJDl""GlJ u1U6"ru@~%1 .&iJDlGlj ~m~%J'"51®.!iii91 ui@Qi,,,..,m Guw CIJlLLIJD6l Glft0lL!tb GLD6"!GuIT(f9ITT 

------~®tb; 

(A) .&i@JlDIT6"' _@LLI)i;i@r,rtb 

(C) ::O"'GlJro GlJr,ruGuw .@LLI)i;i@r,rtb 

29 

(B) 6lSl%J .&il<\-UU6"L _@LLI)i;i@r,rtb 

(D) .&i@JLDIT6"' .&ll<\-UU6"L_@w)i;i@r,rtb 
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77. In which article the term 'Place of Birth' occurs in the Indian Constitution' in relation to 
reservation? · 

Jiii" Article 15 

(C) Article 272 

ffi1T-uu@$l!!)i91? · 

(A) <!91VUlUJ61l6!ltnuy GlSl~ 15 

(C) <!91VUlUJ61l6!ltnuy GlSl~ 272 

(B) Article 18 

(D) Article 273 

(B) <!91VUlUJ61l6!ltnuy GlSl~ 1.8 

(D) <!91VUlUJ61l6!ltnuy GlSl~ 273 

78. Which amendment re-designated the Indian Union Territory of Delhi as the National . 
Capital Territory? 

(A) 67'h Amendment .. ~.69'h Amendment 

(C). 78'h Amendment (D) · 80'h Amendment 

GLro"51 61"~!!) 1!,j,QfJUJrn L51vGp;lfi!;6!lp; .@)i;~UJITGlSlrn Gp;UlUJ pi6!l61l)D.$lft0 orrnw <!9lffil£s;rrli!;p; <!91VUlUJ61l6!llDU'-1 

9irf,l(§i!;p;if lfLLLD UJ1Ti91? 

(A) 67 rui91 <!91VUlUJ61l6!ltnuy f,i®:iii!i lfLLLD (B) 69 6lli9J <!91VUlUJ61l6!lLoLl'-1 ~®:iii!i lfLLLD .. 

(C) 78 6lli9J <!91VUlUJ61l6!ltnuy ~®:iii!i lfLLLD (D) 80 6lli9J <!91VUlUJ61l6!ltnuy ~®:iii!i lfLLLD 

79. The Tamilnadu Government appointed the Rajamannar Committee to deal with 

~ Centre-State Relations · (B) Population policy 

(C) Powers of the Governor (D) Language issues. 

pi uSl !Jlffi <!91 V Iii lf IT!Jil lD~QTITfr @j@@QJ <!916!l lDi!;p;p;rn .$1T lf~LD UJ IT i9J ? 

(A) tn:i;~UJ-tnlT~61l ""-!!JGlJffiID (B) !Jil6l!!Gp;rr@s; Gs;rrGir@s; 

(C) ~<B!Diflrn <!91f,is;rrvffil,.Gir (D) GtnrrWl L51viflf6!l6"fs;Gir 

, 

80. · · 'Habeas Corpus' is to 

(A) To forbid 

"To Have the Body of" Likewise 'Mandamus' is to"---~" 
9llf" We command .. 

(C) By what authority or warrant (D) To be certified 

. (A) pi6!lL GlSlf,l:i;p;ro (B) a; LL6!l 61Tu5i Qil p;Qi ( ""-11)1:i;p;IT6!l6Wr) 

(C) ~f,is;rrv orro6!l61l6!JUJ 6l516"r61Ji!iro .· (D) B'rrrnwGlfli!;p;ro 
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81. All India services is created by which article of the Indian.Constitution? 

~Art. 312 (B) Art. 309 

(C) Art. 310 (D) Art. 311 

(A) 312 ru~ Gl51~ 

(C) 310 ru~ Gl51~ 

(B) 309 ru~ Gl51~ 

(D) . 311 ru~ Gl51~ 

82. Amendment procedure is provided under which artkle of the Indian Constitution? 

(A) Art. 360 

~ Art.368 

(A) 360 ru~ Gl51~ 

(C) 368 ru~ Gl51~ 

(B) . Art. 343 

(I)) Art. 352 

(B) 343 QJ~ Gl51~ 

(D) 352 ru~ Gl51~ 

83. Article 360 of the Indian constitut~on deals with.• 

(A) An emergency due to war, external aggression or armed rebellion 

(B) State emergency 

;)ltf Financial emergency 

(D) All the above 

@)ii~UJ c!91~81UJaJ6"0llDLJ~Qr 360ru~ Gl51~lLjLQr QIOrrLITLj6"0lLUJ~ 

(A) Gurrrr. Qru.m=l)!irrL.@ umLQUJ@uy, LDJDl))JLD ~lLJIOGLD)ii~ a;aia;Lil Gl51roGITGl51i!;IOrorrQi ~QllflJ~roru 

(B) LDrT~Ql c!91'1TGJ51Qi ~QllflJ ~6"0lQl 

(C) ~~ urrrrJiilO ~ruu11 ~mai 

(D) @mru c!ilmroi!;~Lil 
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84. "The marks obtained by 10 students in a test are 

85. 

The median score is 

pt' 4 

(C) 3 

(A) . .4 

(C) 3 

Marks Scored : 1 

No. of Students : 0 

(B) 2 

(D) 1 

. ·(B) 2 

(D) 1 

2 

2 

The mode. of 6, 4, 5, 6, 3, 2, 2, 5, 4, 3, 6, 5, 4, 7, 4, 9, 9.is 

~4 (A) 6 

(C) 5 (D) 9 

3 

1 

6, 4, 5, 6, 3, 2, 2, 5, 4, 3,-6, 

(A) · 6 

5, 4, 7, 4, 9, 9 qi,£1UJ6llfi>)!516'r (l!llE@ 

(B) 4 

(C) 5 (D) 9 

86. The arithmetic mean of all the factors of 21 is 

(A) 
11 
3 

(C) 5 

21 ~ 6'r ..!>!mar ~191 '"rr~6imfl 1E.n16'r "'1.L@ iF lf~rr If rTl · 

11 
(A) 

3 

(C) 5. 
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(B) 
31 
3 

~8 

(B) 
31 
3 

(D) 8 

4 5 

3 4 



87. What is the correct rank o.rder of towns on the basis of population size? 
. ' . 

(A) Greater Mumbai, Delhi, Kolkatta, Bangalore, Chennai 

JlJ>lf' Greater Mumbai, Delhi, Kolkatta, Chennai, Bangalore, · 

(C) Kolkatta, Greater Mumbai, Delhi, Chennai, Hyderabad 

(D) Delhi, Greater Mumbai, Kolkatta, Chennai, Hyderabad 

L1lffi1Em QIOfT6')1EuSl6'1 ~"!-LJU6')LuSlciJ )ljlEIJffiJ1E6')ffi rurfl6')1FU@)'i;i91 : 

(A) QPLD6')U, QLciJ6151, Q1Errcil1E)'i;ltrr. QuffiJ1E(5r'r. Qlf6'16')<>m 

(B) QPLD6')U, QLciJ6151, Q,.rrciJIE)'i;IOrr, Qlf6'16')6m, QuffiJ1E~r'r 

.· (C) Q,.rrcil1Ei£10rr, QPili6'iu, GLciJ6151, Qlf6'16')<>m, 6')~1"1/rTUrr)'i; 

(D) QLciJ6151, QPili6'iu, Q,.rrcil1Ei£!5rr. Qlf6'16')<>m, 6')~1"1/rTUrr)'i; 

88. Which one of the following sets of states to benefit the most from the Kortkan Railway? 

89. 

x 

~ Goa, Karnataka, Maharashtra, and Kerala 

(B) · Madhya Pradesh, Maharashtra, Tamil Nadu, and Kerala . ' . 
(C) Tamil Nadu, Kerala,.Goa, Maharashtra 

(D) Gujarat, Maharashtra, Goa, Tamil.Nadu 

. @<Oil !iJ w m Q,.rr 6liirr 1E6'r i;ruSl 6iJ u rT6')i5 (Yl6ll Lb ~ ~'" u UJ 6'ru rr (!)) Q u <'9 Lb L1l rr ~ 6lJ ffiJ 1Ecir Of6')6U ? . 

(A) C:1Errrurr, IErT)ljrTLIErr, L1l!illD'rri;rrr~"l-l/rT, Ul!iJ!l)lili_ C:1Emi;rrr . 

(B) L1l)'i;~UJ LSli;rC:i!'~· LD~rri;rrr~"!-1/rT, l"uSlW)l)rr@, Ul!iJ!l)JLil C:1E11mrr 

(C) • i!'uSlW)l)IT@; C:1E11mrr, C:1Errrurr, Ul~rri;rrr~"l-1/rr 

(D) ®1J:wrri£, L1l~rr11rr~"l-l/rr, c:,.rrrurr. i!'uSlW)J)rr@ 

Which of the following pairs are correctly matches : 

1. Idukki Thermal power station 

2. Sabarigiri Hydro--electri~ project 

3. Ghatprabha Irrigation project 

4. Ramaganga Multipurpose project 

~ 2, 3 and 4 (B) 1, 2, 3 and 4 (C) · 3 and 4 

.Sw QJ <'9 Lil c: 1Jil rr "l-'"GlTI 6iJ '"6')QJ Q u rr ®!iii" L1l rr<>m 6')QJ ? 

1. @@ffi.$1 ~<>mru u516'1 ~6')6llUJLb 

2. 1Furfl.s1rfl ,llirr u516ITT ~6')ruu1Lil 

3. ,.i:_L5111urr ,llir'ruurr<F<>m ~LLLil . 

4. 

(A) • 2, 3 L1lrD!l)Jili 4 (B) 1, 2, 3 L1lrD!l)Jili 4. (C) 3 L1lrD!l)lili 4 
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(D) 1 and 2 

(D) l L1lrD!l)Jili 2 
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90. KOI - 314C is 

(A) . the twin Galaxy discovered in March 2014 · 

~ the Earth's gassy twin planet discovered in J~n 2014 

(C) the comet predicted to hit Jupiter in June 2015 

(D) the meteor predicted to.hitearth in Dec 2014 

KOi - 314C or~u~ 

(A) 2014, LD1Trr66lro a;~(ij\tSl"J'."aiUULL@l)l: .. mL )!iL6:i;~i;r LD~LQ)LD 

(B) 2014, ~6"GUITluSlro a;6lior@tSl"l'ii;a;uuLL !d,L6iuSlm§J GlJIT'4 @~-,;; Ga;1T.\r 

(C) 2015, ~~6'11© GJ51UJIT\,jl~ <'.;a;1T.rrlmm 1"8irTUU101Te; G61Troruuu@Lb GlJITro )!iLB':i;~i;rLb 

(D) 2014, "J'6Lbuiflro. !d,u5iuSlm6" 1"a;iruu::o1Te; G61TroruuuLL GJ516liirra;ru 

91. The first non - tribal chief minister of Jharkhand is 

. )tMf" Raghubar Das 

(C). Niraj Antani 

(A) fl(§Uir IOITW 

(C) ~'l~ ~mL6'11 

(B) Deepak Gupta 

(D) Anil Kumar Sinha, 

(B) ~uii; @)LIIOIT 

(D) ~6'11© (!ljlDITrT §l~!i®JT 

92. Whose memorial was inaugurated by Prime Minister oflndia in London recently? 

.JtM/' Dr. B. R. Ambedkar 

(C) Pandit Jawaharlal Nehru 

(A) (l!l<illmGUrr LSI. ~rr. ~LbGu:i;a;1Trr 

(C) um"!''!" ~""!ill!lrrro1Tro a/!i® 
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(B) Rabindranath Tagore· 

(D) Swami Vivekananda 

(B) @i;rtS UJ 17/!i IT :i; !"IT .!m.rT 

(D) BiGlJITuSi GJ5IGGUe;1Tm)i;::o1T 
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93. The operation launched against Bodo millitartts on December 2014 is 

. Jilf". 'Operation All Out' (B) 'Operation Mausain' 

(C) 'Operation Vijay' 

(A) 'c!{b.U .!91Gl.jL' @UJ1i;s;C1P6'l!D 

(C) '6lSl1J6.U' @UJ1i;s;Ctp6'l!D 

(D) 'Operation S\)abird' 

(B) 'Q1.0mQULb' @UJii;s;Ctpoo!D 

(D) '61li aurn:.: @UJ1i;o$(tp6'lj!J 

94.. ADB signs $300 million loan pact with the Union Government to support this mission 

(A) MGNREGA 

(C) PMGSY 

· (B) JNNURM 

pfNUHM 

c!{l,61UJ rumr'r66l ruri.Jit1 $300 u516ilffi!UJ6"r o$L@lp;6lSl !LL6"ru<q.li;6'ls;u5lru p;@ru.,;,,, ""91.IJBiL@r @ii;~L.Lii;~!ii@i · 

6'ls;GUJ@il;~L.@ c!{blOIJGl.j .!91eflil;i9J6irmi9J 

(A) MGNREGA 

(C) PMGSY 

(B) JNNURM 

(D). NUHM 

95. ·What are 'Apoorva' and C-421? 

(A) New varieties of rice introduced by !CAR recently 

~ Coast guard ships which were recently dedicated to the nation· 

(C) Names of Indian satellites 

(D) Computer soft_ware developed by C-DAC. 

(A) !CAR c!{b.U 6LDUii;~.U .!91!Dl@,g;t'.Ju@ii;p;uul.L Lj~ 1Jo$ ""91ITl61 

(B) 6tliu!i;~.U p;rrL.~!iJ® ""91!iJu6<ITTlii;s;uuL.L s;L.U 6rillooru urri9Js;rru'-l s;uu.Us;Gir 

.· (C)' @)i;~UJrr6lSlro G6UJ!iJ6'ls; (]s;rrGirs;eflro QuUJr'r 

(D) C-DACru !L(!9QJ1Til;s;uuLL s;6<ITTlffil Q1.0QiQurr(!9Lei6ir 
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96. Venom GT is the world's 

~ fastest car 

(C) best robot 

Venom GT .,-6'Tui9J "-ru8ilro 

(C) 

(B) costliest medicine 

(D) lightest balloon 

(B) ~i!J6l516'lrutLJUJrr,ri;I!' LD®Ji;!91 

(D) · u5J ffi 6T6'l L@j6'l j]) Ji;I!' ffi ITlD 1l)I U@llf 6'J 

97. .The software developed for a project by Google X, mainly fo.r autonomous cars for self 

navigation 

(A) Google Navigator 

?f' Google Chauffeur 

(B) Google Pathfinder 

(D) Google Outlander 

8'L@j6il x ~!91 Gl1fUJ6ililJLL~ilJ6il 1!'"6llllUJffiJBil 9ei:!)IT~.sffi1ro ll'"ro 6llk91.S6»WLJDl1D@Jffi.SITffi "-Qlj6llITffi.SLJULL 

GJLDro~UITQljffi 

(A) ll<L@j6il Cp;6lSIC.sLLrr 

(C) 8'L@j6iJ GllfG!To0oLJIT 

98. The winner of the Oscar 2015 for best actor is 

(A) Steve Carell · 

(C) J .K. Simmons 

(A~ Gitlt...ru .srr~.U 

(C) Gl1J6.C.S.6'llfLD6'!GitJ 
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· (B) John Cooper 

Jll'f Eddie Redmayne 

(B) 1J6IT"'1 ll<LLJUIT 

(D) "1"L"l- Q~L_QLDtiJ6llll 

.\ 
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99. Who won the National Billiards Title for seventh time? 

(A) Shri Krishna 

JJtl/" Pankaj Advai:ti 

(A) ~ ffil@~-rr 

(C) un\Ja;~ ~)'i;6lJrr..Tl 

100. Consider the following statements : 

(B) Aditya Mehta 

(D) Neena Praveen 

(B) qi,~)'i;u..irr Gt0)'i;~rr 

(D) )barrr tSl~dloirr 

1. 18'h SAARC summit was held at Kathmandu in 2014 

2. SAARC summit is taking place after an interval of three years with the last summit 

being held at Maldives in 2011 

. 3. Third BIMSTEC summit concluded in Myanmar 

Which of the above statement is/are correct? 

(A) .1 only 

(C) 1 and 2 only 

.$~a;.IDL 6lJrrffi£llLin\Ja;rom ffi@)'i;~ru Qa;rrma;. 

.~l,2and3 
(D) .3 only 

1. 2014 Lil qi,GliMQi) 18 rui9J lfrrrrffi "-8'81 t0rrpJrrQi) a;rr)'i;t06'iMQ;16lS1ru pl"'1LQu!iJ!Di9J 

2. lfrrrrffi t0rrpJrrQi) (l!loirr(!)J qi,GliMQi) .@roLQ6lJffilffi@iu tSl!!J@i pJ"'1LQu!iJ!!Ji91· .@~di@i C!PJtro~lU lDrrpJrrQi) · 

lDrr6U)'i;~6lS1ru 2011 ru !!l""LQu!iJ!Di91 

3.. (!l>Qrr!!JIT6lJi9] CiLilGillQLffi lDrTpJITQi) u5llUrroirrt0r\lru C!fl"l-6lJW!Di9J· 

Gt0 !iJa;.IDL 6lJ rr.;; £1 lLI nil a; ffilru "rll lLI rrmro6lJ 6fro6lJ ? 

(A) 

(C) 

1 t0l_Qi)Lil 

1 t0!iJ(!)!Lil 2 lDL@Lil 

(B) 1;2 t0!iJID1Lil .3 

,(D) 3 t0L@Lil 
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Paper II 
GENERAL STUDIES. 

(Degree Standard) 

RAGS/16 

Time Allowed : 2 Hours] ... : [Maximum Marks : 200 

Read the following instructions carefully before you begin to ~mswer the questions: 

IMPORTANT INSTRUCTIONS 

1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the. commencement of the examination. As soon as the signa! is received.you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet· contains 100 questions. Prior to attempting to answer the candidates are 
requested to,check whether ail the questions are there and ensure there are no ·blank pages in the 
question booklet. In case any defect in the Question ·Paper is noticed it shall be reported to· the 
Invigilator within first 10 minutes. 

3 .. 

4. 

5. 

6. 

7. 

Answer all que_stions. All questions carry equal marks.. . 
You must write your Register Number in the space provided on the.top right side of this page."Do not 

. write anything else on the Question Booklet. 
An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. 
You will also encode your Register Number, Subject Code,. Question Booklet SL· No .. etc. with Blue or 
Black ink Ball point pen in the space provided on· the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode· the above information, your Answer Sheet will not be evaluated. 
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response an<! mark in your Answer Sheet. In case you feel that there are more ".than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response.for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @ , @, © and @ against each question. To answ~r the 
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select 
one response for each question in the Question Booklet and .mark in the Answer Sheet. If you mark 
more than one answer for one question, the answer will be treated as wrong. e:g. ff for any item,@ is 
the correct answer, you have to mark as follows : 

@•©@ . 
9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the-Question Booklet with you only after the Examination is over. 

10. The sheet bef~re the last page of the Question Booklet can be used for Rough Work, 

11. Failure to comply with any of the above instructions will render you liable.to such action or penalty as 
the Commission may decide at their discretion. 

12. In all matters and in cases of doubt, the English Version is final. 

13. Do not tick-mark or mark the answers in the Question booklet. 


